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Although the test stresses on accuracy more than speed, it is important for you to use your time as
effectively as possible.

Do not waste time on questions, which are too difficult for you. You can go on to other questions and
come back to the difficult ones later.

Question booklets have been marked with A or B or C or D or E on the right side top corner, which is
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answer sheet will not be evaluated.

Space available in the booklet could be used for rough work, if require No separate sheet will be
provided.

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance
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w2t 93T #I18/Question Booklet Code | A
01.  STeT I Hsicd &7 g/ What is the density of water
A. 2 I 9T g HeerH1el/2 gram per cubic centimetre
B. 19 9T gef A=A /1 gram per cubic centimetre
C. 1 forar ameT 9T g d=erAte /1 Kilogram per cubic centimetre
D. 39 # & HIg Ag1/None of the above
02. fArATafad # & 31foha 3T 1 TJ=T HIChoose the inert gas from the following
A.  F/Chlorine
B. 3erdIsi=l/Oxygen
C. ®IHI/Bromine
D. gifegd/Helium
03. T HETIUT LPG §/LPG is abbreviation for
A. Low Pressure Gas
B. Liquefied Propane Gas
C. Liquid Petroleum Gas
D. Liquefied Petroleum Gas
04.  OXHATY] H Selergiel I el HEAT 9T 43R &/The total number of electrons in an atom
depends on: :
A.  IHIY] geIATS /Atomic Mass
B. WA AT/ Atomic Weight
C. UXHA] §&AT/ Atomic Number
D. Y9I ATATY / Atomic Size
05. I I-4RTE, V-dlec g 3R -gfaRier g, a 2RI 30 e v ufafafca fear
ST &/If | — is current, V — is volt and R — is resistance, then Ohm’s law is represented by
A V=IR
B. V=IR
C. R=VI
D. I=VR

06. 37T # T FAT §/What are the vowels in English

A. b,c x,n
B. tpay
C. a0
D. m,s,w,|

07. IR # €Y T &9 Figd Dol fohclel AsF §2/What is the total number of States in India

including Union Territories?

A 29
B. 36
C. 35
D. 28
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99T AT HI8/Question Booklet Code A

08.

09.

10.

11.

12.

138,

T J&9uT ISRO &/ISRO stands for

A. Indian Satellite Research Organisation
B. Indian Space Research Organisation
C. Indian Spacecraft Research Organisation
D. Indian Space Reaching Organisation
H HIRT FT 37ARET UedT U g/Space port of India is located at
A. BdgH/Trivandrum
B. deAs/Chennai
C. #gReier /Sriharikota
D. darere/Bengaluru
TG Betor & AT dIoT g I/In an equilateral triangle, the three angles are
A. 45,45 90
B. 60, 60, 60
C. 60,30, 90
D. 90,90, 0
T FRIoT foenT 3maR 10T A, 3R Fa1e 15881, §, ar Beior &1 g% SIA
triangle whose base is 10cm and height is 15cm, then the area of the triangle is
A. 150 cm?
B. 100 cm?
C. 75cm?
D. 50cm?

fo& gIeeh 9% hgd §2/Which is called dry ice?

A. gdgrsgiaie/Liquid Hydrogen
B. @&fgdA/Helium

C. 3Terdrete /Oxygen

D.

B e+ 3TE3MMFATSS/Solid Carbon dioxide

HIT-a1 AT ST [T T ITeAsT AT &/The gas which obeys Boyle’s Law is called

grEdfae /Real gas

3mes Aa/ideal gas

gl AT B /BothA&B

39T A @ HIS w7E1/None of the above

oo w >
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14.

15.

16.

17.

18.

18.

oo w >

w2 9f3T F18/Question Booklet Code A

TR T ICTIT H gIBsIoT & g TSI T FAT AT AT §2/This isotope of

Hydrogen is used in Radioactive studies

TERIA/Protium
STERIA/Deutrium

TR/ Tritium
$RY gTeT/Heavy water

oo ® >

g STl M pH &/pH of pure water is

6.5
7.0
7.4
8.0

Cow>

Wﬁﬂﬁﬁﬁ%@ﬁﬁmm? de dg /When an ice cube is dropped in a cup of
water, it

T ST STTAT §/evaporates

kT Bfloats

A SATAT 8/goes down

39derd #H @ &I Fgi/none of the above

grex 3T 1 FeesT §/Composition of water gas

o] AIFATSS 3T ASeIsl=/Carbon monoxide and Nitrogen
FaT AlArFarss 3R grsstsisT /Carbon monoxide and Hydrogen
FTeeT AlAIFATSS 31T 3medIsie/Carbon monoxide and Oxygen
FraT AlFrarss 3R Fea/Carbon monoxide and Carbon

oo W >

Brear 2 .7 3R FarE 7 3.8, & R F1 3madsT Fa1 §2/Volume of a cylinder with radius

2 cm and height 7 cm is

o0 w>
N
N
Q
=

W W W W

Fofr 1242243%+ ... +10? &7 3T §/Sum of the series 124+2%+3%+..... +10%is

A. 365
B. 375
C. 385
D. 395
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20. Aoy 3,1,-1,-3 & GIHAT 3a] FAT §2/The common difference of the series 3,1,-1,-3 is

A 2
B. -2
c. 1
D. 0

21. I g=A1sT & u1ed 5 A.AY, 5 AT 3 7 A.A. §, A STHT IIAA AT &2 /If the sides of a

cuboid are 5cm, 5cm and 7cm, then its volume is

A.  125cm®
B. 17cm’
C. 32cm®
D. 175cm’
22.  6.25 3R 3.5 I IUTAHA % ST §/Product of 6.25 and 3.5 is equal to
A, 21.875
B. 2.1875
C. 21875
D. 21875

23.  §Rd & hT UoT H ST0EAr ST E=IdT 3778 g?/Which state of India is thickly populated?

A. HTc/Kerala
B.  UiRe# sammel/West Bengal
C. 3caR weal/Uttar Pradesh
D. df#A=Ig /Tamilnadu
24. T ITEIIA hre-faTeT §/Entomology is the study of
A.  TITURI/Mammals
B. &IST/ Insects
C. dgr«d/Rocks
D. rs&/Words
25. f@dA IRaT & g T Y AT STAT g/India has the largest deposits of
in the world.
A. T@U/Gold
B. T{Sd/Silver
C. 3#Hd/Mica
D. dr&E/Copper
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26.

27.

28.

29.

30.

31.

w2 9f¥FT :E/Question Booklet Code A

WRIfFued 2016 # ARIY darde] o fF @ # F4oT g Sid/For which game did

Mariappan Thangavelu won gold medal in Paralympics 20167

A. s &e/long jump
B. 3= &a/High jump
C. &ls/Sprint

D. feue Sta/Triple jump

TR TohdaT T T ek dTeFd @l G &Y /Choose the correct verb form to complete the
sentence : Call your friend help.

A, get

B. toget
C. getting
D. togot

TEN dTFART T TIT Hlch dlFd I QT H/Choose the correct phrase to complete the

sentence: Thank you me in Maths.
A. at coaching
B. in coaching
C. by coaching
D. for coaching

Sefet =le o T oqid JTaffieh 3T9R g/immediate first aid for burn injury is

TIE & FW 9Tl STelell/pouring water over injury
Ic & FUX TITET 91T /applying ink over injury
dic % FIT FHYST ST /tying a cloth over injury
HIGH eIdMT=T/applying ointment

oo w >

I 31T I Tq’sTl’cTW Ig 37T 8191 foh/While attempting to extinguish an electrical fire,

~o 0~

it is good to

A.  uddersh S giAd S¥/inform supervisor

B.  faege 3myfct 1§ si/cut off power supply
C. =T STel/pour water

D. & T IdT a9Mu/find an extinguisher

TS grepicies 3 [ Wueielr | 1 F&T Foesh &/ Main Constituent of compressed Natural
Gas[CNG is

A.  CH,

B. CjHy4
C. GCsHs
D. CsHyo

| T ‘@ — Rz 2016 — ATERHRA / Fireman A — Dec 2016 — IPRC . 5




w2sT 93T HIs/Question Booklet Code A

32.  dYAS aTg A wATSelelel I & AT 1 GiArd fha=r §2/How much percentage by

Volume of Nitrogen gases in the atmospheric air

A 21
B. 23
c. 77
D. 78

33.  3iffauraEs & v Sl & 3T &1 seaATer fohar SITar §2/Which gas is used for extinguishing

fire

A.  ife&@/Helium

B. gmsasiel/Hydrogen

C. e SIS3TFATSS/Carbon dioxide
D. 3TRATSTe/Oxygen

34.  ia-ar1 3 JRY §2/Which gas is heavier

A. sEcIe/Nitrogen
B. 3edIsi=1/Oxygen
C. 3mia/Argon
D. aryAIr
35. &7 {7407 LPG §/LPG is a mixture of
A.  #da 31R §99/Methane and Ethane
B. 33+ 3R 9Ie/Ethane and Propane
C. WiUe 3R sg¢A/Propane and Butane
D. &g+ 3R 9=¢=1/Butane and Pentane
36. MMM H LPG & 3cuTee 8 iR &I 379AATAT ST &/Process Used for
Production of LPG in the refineries is

A. fhece/Filtration

B. 3if&reiwur/Adsorption
C. 37aIwur/ Absorption
D.  3fHde/Distillation

37. &I T SHTS FAT §/What is the unit of Pressure

A.  Kg/m®
B. Ib/ft®
C. N/m®
D. N/m?
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38.

a9,

40.

41.

42.

43.

72T 9T HS/Question Booklet Code

S1ael e §/Boyle's law is
A. TR AT9HAT 9 ETe, 3R & 3efshel=larl §

Pressure is directly Proportional to volume at constant temperature

B. oK QIS W &4, 3acie & ek §

Pressure is inversely Proportional to Volume at constant temperature

C. TR EE W 3Ic, ATIA § SThalarc §

Volume is directly Proportional to temperature at constant Pressure

D. TR g W 3Tae, aTIA § AR §

Volume is inversely Proportional to temperature at constant Pressure

AT a9 3T Sa[uet. & dY.] W gT8sieleT 31 & Ueh AT o1 3T fhalell §2/How much

is the Volume of one gram of Hydrogen gas at normal temperature and Pressure [NTP]

A 224 M°
B. 224 litres
c. 112M°
D. 11.2litres

TeTcd & SIS FAT §2/What is the unit of density

A Kg/m?
B. N/m?
C. Kg/m®
D. N/m®

FMeleh &7 AT g[r=T3=a1]/Volume of sphere is [r=radius]

A, 3/4Trt
B. 1/3mr®
C. 4/3mr
D. 4mr

Yo T 3T §[r=T4s41 h=3=T$]/Volume of a cone is [r=radius h=height]

A wrth

B. 4mr’h

C. 1/3mrh

D. 4/3mrh

faege #Aex v goff gfera & Si........... gRafda #ar §/An electric motor is a rot

device that converts

degd Sl 1 Fif3eh Fiil # /Electrical energy into mechanical energy
it Foll &1 dIcT Sl 7 / Mechanical energy into electrical energy
Aeg ol T TehI=T Sl A /electrical energy into light energy

T Fsil &1 3 Foil & /chemical energy into electrical energy

oo w>»

ating
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44.

45.

46.

47.

48.

49.

g 100 AT Sod Y Teh T =Tl ke T 8, ol faecl T fohclell $eh1s &1 YT g / If a

100 watt bulb is switched on for one day, how many units of electricity will be consumed

A. 1.2 Unit
B. 2.4 Unit
C. 10 Unit

D. 100 Unit

a’*+b? e §/a’+b? is equal

A. (atb)?
B. (a-b)?
C. (a+b) (a-b)
D. (at+b)’*-2ab

TUh 3TEAT STeAair1, 2016 & RAGER30, 2016[ 1A AT s ] | ae T@aft o=t & whrer Sear

gl 381 fohast &=t de @re fRaT / A man worked on all days from January 1,” 2016 to
September 30, 2016 [ both days inclusive ] How many days did he work

A. 270
B. 273
C. 274
D. 275

fefafed & & ier-a Fear Had FTgad §/Which of the following numbers is the smallest

A 12
B. 4/6
C. 5/8
D. 11/20

U Jig, ST 200 m/s?> & caROT & 1Y IoIdl §, 16N ol FT 3cUicad Hldr §, al 3T

ST HAT.......... B’I?IT/A‘ ball moving with an acceleration of 200 m/s? produces a force of 16N,
then its mass is

A.  8Kg
B. 800g
C. 80g
D. 8g
Rajan and Rani to school Yesterday

[ WET 2TeG T AT Feh, Wlell TUTT T gfct ¥/choose a word to fill up this blank ]

A. Gone
B. Going
C. Go

D. Went
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50. 90, 150, 225 & TL.HM.[. T Ial oFeTU/Find the LCM of 90, 150, 225

A. 90
B. 15
C. 450
D. 225

51. 66564 & a3 7l § /Square root of 66564

A. 33282
B. 258

C. 6564
D. 268

52.  TTeIROT &Y/ Simplify (x+2) + (x-1
(x+3)  (x-2)

A (2x+1)
(2x-1)

B. (¢+2x-1)
(x*+3x-2)

C (23 +2x-7)

(< +x-6)

D. (< +2x-7)

(> +x-6)

53.  HRJ o AU HisT g/Who is the President of India

Y s AE/Shri. Narendra Modi

1 AFAGT TAg/Shri. Manmohan Singh
A YOI F@SH/Shri. Pranab Mukherjee
AT 37sgel Hel#H/Shri. Abdul Kalam

oow >

54.  ERI o HEATIY Hgl [EUd g/Headquarters of ISRO is located at

feeol/Delhi

A

B.  saTef@/Bengaluru

C. #Ha$ /Mumbai

D. faRasdq¥#/Thiruvananthaparam
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55.

56.

87

58.

59.

60.

foega arT fr s Fr & GdRT AFcTeFd fHar ST g/Electric current is

o~

expressed by a unit called

A.  dree/Nolt

B. geRI/Henry

C. UfFETat/Ampere
D.  %al#H/Coulomb

0.25 T gal % s} g/Square of 0.25 is equal to

625
0.0625
0.625
62.5

Sow>

HET A T WWWWW/CMO% an appropriate word to make a meaningful

sentence: The culprit stqod when a policeman hit him.

A. firm

B. stiff

C. smiled

D. annoyed

FHHIOT 10T & & ured 8@ AL 3K 69 A, §| HSIOT FRIoT FH FHOT ETwo
sides of right angle triangle is 8cm and 6cm. Hypotenuse of this right angle triangle is
A.  7cm

B. 8cm

C. 9cm

D 10cm

T 3TEHT A9 @ 50 TIT H @EAT & 3R 40 TUT 7 S9d1 §1 hcter ufaera 7 g1y gldr g 2 /A

person purchases apples for Rs50 and sells for Rs40. How much is the loss in Percentage

A 20%
B. 25%
C. 40%
D. 50%

“grief’ 2Teg; T 3T Taa# &1 T=T FH/Choose the appropriate antonym for the word “grief’

A. happiness
B. struggle
C. misery

D. sorrow
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ISRO PROPULSION COMPLEX
Mahendragiri

Written Examination for Selection to the Post of
Fireman A — Post Code:008
vide Advt. No.IPRC/RMT/2016/01 dated 05.08.2016

ANSWER KEY

Question Booklet Code A

~ Q.No. | Ans.Key Q. No. | Ans. Key Q. No. | Ans. Key
01 B 21 D 41 Cc
02 D 22 A 42 C
03 D 23 B 43 A
04 c 24 B 44 B
05 B 25 Cc 45 D
06 Cc 26 B 46 C
07 B 27 B 47 A
08 B 28 D 48 C
09 c 29 A 49 D
10 B 30 B 50 C
11 Cc 31 A 51 B
12 D 32 D 52 C
13 B 33 Cc 53 Cc
14 Cc 34 C 54 B
15 B 35 Cc 55 o
16 B 36 D 56 B
17 B 37 D 57 B
18 A 38 B 58 D
19 c 39 D 59 A
20 B 40 Cc 60 A
PS:-  Any objections/queries in the Answer Key may be sent through email to

career@iprc.gov.in on or before 23.12.2016 (Friday) 15:00 Hrs. If no
objections are received before the stipulated date, the Answer Key will be
deemed legitimate.



